
Part # 21056/21057    HORNET 900 BELLY PAN 

 CONTENTS 
6 x Mounting bracket  

4 x M6 x 25mm countersunk bolt 

4 x M6 aluminum washer 

2 x M6 nyloc nut 

4 x M4 x 16 bolt, nut, washer  

CFK21056 

CBOLM60015 

CWASM60006 

CNUTM60003
CBOLM40003/CNUTM40002/CWASM40001 

2 x lugnut (fitted to bracket)  

4 x 13mm grommet   

4 x M6 x 6mm spacer  

CNUTM60007 

CGROM60001 

CSPAM60006

fitting instructions 

Remove rear two sump bolts on left hand side of bike, then offer up triangle shaped bracket RL (see pic 1), 

the bracket will only fit in one place. Replace sump bolts and tighten.  

Repeat procedure on other side of bike using bracket RR (pic 1). 

Assemble front brackets using the M4 bolts washers and nuts (pic 2, pic 3), then remove left side front two 

sump bolts and engine casing bolt directly above, fit bracket FL, replace bolts and tighten. 

Repeat the procedure on the other side using bracket FR. 

When all brackets are in place, offer up the belly pan and line up holes with bracket holes, attach front of 

belly pan using M6 bolts, aluminium & rubber washers into lugnuts fitted to brackets loosely, then attach to 

rear brackets using M6 bolts washers and nyloc nuts loosely, check fit of belly pan then tighten all bolts. 

PIC 1 PIC 2 

PIC 3 


